P158 # 95 $vertex \Rightarrow (0, -6) : P = 0, 9 = -6$ $y = a(x - 0)^{2} - 6$ $y = 3x^2 - 6$ but passing $21 = 2(3)^2 - 6$ Shrough (3,21) $\frac{27}{9} = \frac{9a}{9} \Rightarrow a^{-3} : [y = 3x^{-6}]$

3.3 Completing the Square homefun: page 192 #1-4, 8, 9, 14, 16, 17, 19, 22, 29-30 Recap: a) $(\mathbf{x}+4)^2$ b) $(\mathbf{x}-3)^2$ c) $(\mathbf{x}+a)^2$ = $(\chi+4)(\chi+4)$ = $(\chi-3)(\chi-3)$ = $(\chi+a_1)(\chi+a_2)$ = $\chi^2 + 4\chi + 4\chi + 1/6$ = $\chi^2 - 6\chi + 9$ = $\chi^2 + 2a\chi + a^2$ Are these perfect squares? How else could you write them?

a)
$$y = x^{2} + 2x + 1$$

 $= (X+I)(X+I)$
 $= (X+I)^{2}$
b) $x^{2} - 6x + 9$
 $= (X-3)^{2}$

What numbers could complete the square?

a)
$$y = x^{2} + 10x + ?$$

 $= \chi^{2} + 10x + 25$
 $= \chi^{2} + 10x + 25$
 $= \chi^{2} \pm 12\chi + 36$
 $= (\chi + 5)^{2}$
 $= (\chi + 6)^{2}$
 $= (\chi - 6)^{2}$
 $y = \chi^{2} \pm 7x + 29$
 $y = \chi^{2} \pm 7x + 29$

The process of finding the "?" to make a perfect square trinomial can also be used to change an expression into vertex form. In this case, however, we can't just make the number we want magically appear, so we must use a little trick...... Example 1: Write the quadratic relation $y = x^2 - 8x - 2$ in vertex form.

$$y = (x^{2} - 8x) - 2$$

$$y = (x^{2} - 8x) - 2$$

$$y = (x^{2} - 8x + 1b - 1b) - 2$$

$$y = (x^{2} - 8x + 1b) - 16 - 2$$

$$y = (x^{2} - 8x + 1b) - 16 - 2$$

$$y = (x - 4)^{2} - 16 - 2$$

$$y = (x - 4)^{2} - 16 - 2$$

$$y = (x - 4)^{2} - 16 - 2$$

$$y = (x - 4)^{2} - 18$$

Example 2: Write the quadratic relation $y = 3x^2 + 18x + 20$ in vertex form.

$$y = (3x^{2} + 18x) + 20$$

$$y = 3(x^{2} + 6x) + 20$$

$$y = 3(x^{2} + 6x + 9) + 20$$

$$y = 3(x^{2} + 6x + 9) - 9(3) + 20$$

$$y = 3(x^{2} + 6x + 9) - 9(3) + 205$$

$$y = 3(x^{2} + 6x + 9) - 9(3) + 205$$

$$y = 3(x^{2} + 3)^{2} - 27 + 20$$

$$y = 3(x + 3)^{2} - 27 + 20$$

$$y = 3(x + 3)^{2} - 7$$

Example 3: Write the quadratic relation
$$\mathbf{y} = 2\mathbf{x}^2 + 9\mathbf{x} + 5$$
 in vertex form.

$$\begin{aligned} \mathbf{y} &= (\mathbf{z}\mathbf{x}^2 + 9\mathbf{x}) + 5 \\ \mathbf{y} &= \mathbf{z}(\mathbf{x}^2 + \frac{q}{2}\mathbf{x}) + 5 \\ \mathbf{y} &= \mathbf{z}(\mathbf{x}^2 + \frac{q}{2}\mathbf{x}) + \frac{q}{16} + \frac{q}{16} + 5 \\ \mathbf{y} &= \mathbf{z}(\mathbf{x}^2 + \frac{q}{2}\mathbf{x}) + \frac{q}{16} + \frac{q}{16} + 5 \\ \mathbf{y} &= \mathbf{z}(\mathbf{x}^2 + \frac{q}{2}\mathbf{x} + \frac{q}{16}) - \frac{q}{34}(\mathbf{x}) + \frac{q}{5}\mathbf{x} + \frac{q}{14} + \frac{q}{16} + \frac{q}{16} \\ \mathbf{y} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{x}) + \frac{q}{16} + \frac{q}{36} \\ \mathbf{y} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{x}) + \frac{q}{16} \\ \mathbf{y} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{x}) + \frac{q}{16} + \frac{q}{36} \\ \mathbf{y} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{x}) - \frac{q}{16} + \frac{q}{36} \\ \mathbf{y} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{x}) - \frac{q}{16} \\ \mathbf{z} &= \mathbf{z}(\mathbf{x} + \frac{q}{2}\mathbf{z}) - \frac{q}{16} \\$$